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100km% 29,650 34,690 46,860 61,040
110kmE 31,400 36710 49,630 64740
120kmE 33,140 38730 52,390 68,450
130km% T 34,880 40,750 55,160 72,160
140kmE 36,630 42,770 57,930 75,860
150km % 38370 44,790 60,700 79570
160kmE 40,110 46,810 63.470 83270
170kmE 41,860 48,830 66,240 86,980
180kmE 43,600 50,850 69,010 90,690
190km% 45,340 52,870 71780 94,390
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FEAR REHEARI16H WiEike/B 1kgx 1568 X280 =4,200M

¥EE 20kmibETN~BE 2~ EMEA (14580M % 1),/508=291H
BI50¥B(FE) it 4,467 2ANETHEA#EAL (11,900 x2AX1[E]),50#H=476H

FEAR REHEARI16H WiEike/B 1kgx 1568 X280 =4,200M

(MwBRAESK 1.8xX10m=EB = 2,900M 1BHEY25mER=725M
BELDOHE it 3,105

(2)%E, EEREE IAIRHLYLEEZEE  11900M,/58=2380M
EOF T IEPY:N a 2,380 RENEE BREIAIAHEYDa 11,900 ,5a =2,380M
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BER 1 ALY OBABERE

(A) BEER2 0Kk

3 th EHEA (1) BHEESS MEPZLAI 2 BEEH
BHEERER ME P3| (18 0fEHK 2 [EE A [A£]
(A) WSEZE20mKi (100FXHEY)

X5 HE Ll i B ik
—RIHEER 0.6 A 23,300 13,980(0.3 A x 2[a]
EET 0.8 A 21,100 16,880(0.4 A x 2[a]
TBIEXER 1 A 18,100 18,100(0.5 A x 2[a]
S 6 FE 3.6 h 3,983 14,338(1.8h x 2[H]
EMHE 4 % 63,298 2,531
&t 65,829
1AREE=Y 658
(B) MEEZ20cmlE4 Ocmkil (1 00AKEEY)

X5 HE Ll i B ik
—RIHEER 0.8 A 23,300 18,640(0.4 A x 2[a]
EET 1.2 A 21,100 25,320|0.6 A X 2[H]
TREXE 1.6 A 18,100 28,960|0.8 A X 2[H]
Fov &R (2 tH) 11 h 3,983 43,813|5.5h X 2[A]
EMHE 3 % 116,733 3,501
&t 120,234
1AREE=Y 1202
Foy &R (2t) BfR (1hdEY)

=X HE Ll i B
Bl 4.7 I 139 653
—EEF 0.18 A 18,500 3,330
&t 3,983

BE BA= BHRE A | RAKHEMB | XHI€EC | BHheEED | &5 (BikZ)

(m) 1 E1453() 2 @43(0) ME P(H) (M) A*B (M) (M) C+D
10 3.00 0.0334 7,060 235 658 893
11 3.63 0.0404 7,060 285 658 943
12 432 0.0480 7,060 338 658 996
13 5.07 0.0564 7,060 398 658 1,056
14 588 0.0654 7,060 461 658 1,119
15 6.75 0.0750 7,060 529 658 1,187
16 7.68 0.0854 7,060 602 658 1,260
17 8.67 0.0964 7,060 680 658 1,338
18 9.72 0.1080 7,060 762 658 1,420
19 10.83 0.1204 7,060 850 658 1,608
20 12.00 0.1334 7,060 941 658 1,699

BER 1 ALY Y OBAHERE
(B) WEEZE2 0cmil L4 Ok

BE BA= BHRE A | RRHEMB | X#I€%C | BHheEED | &5 (BikE)

(m) 1 E1453() 2 @43(0) ME P(H) (M) A*B (M) (M) C+D
10 3.00 0.0334 7,060 235 1,202 1,437
11 3.63 0.0404 7,060 285 1,202 1,487
12 432 0.0480 7,060 338 1,202 1,540
13 5.07 0.0564 7,060 398 1,202 1,600
14 588 0.0654 7,060 461 1,202 1,663
15 6.75 0.0750 7,060 529 1,202 1,731
16 7.68 0.0854 7,060 602 1,202 1,804
17 8.67 0.0964 7,060 680 1,202 1,882
18 9.72 0.1080 7,060 762 1,202 1,964
19 10.83 0.1204 7,060 850 1,202 2,052
20 12.00 0.1334 7,060 941 1,202 2,143




BER 1 ALY OBABERE

(A) BEER2 0Kk

3 th EHEA (1) BHEZR MEPELA 2 EHAH
BHEERER ME P3| (18 0fEHK 2 [EE A [FRiE]
(A) WSEZE20mKi (100FXHEY)

X5 HE Ll i B ik
—RIHEER 0.6| A 23,300 13,980(0.3 A x 2[a]
EET 0.8| A 21,100 16,880(0.4 A x 2[a]
TBIEXER S 18,100 18,100(0.5 A x 2[a]
S 6 FE 36|h 4,058 14,608|1.8hx 2[H]
EMHE 4% 63,568 2,542
&t 66,110
1AREE=Y 661
(B) MEEZ20cmlE4 Ocmkil (1 00AKEEY)

X5 HE Ll i B ik
—RIHEER 0.8| A 23,300 18,640(0.4 A x 2[a]
EET 1.2|A 21,100 25,320|0.6 A X 2[H]
TREXE 1.6[A 18,100 28,960|0.8 A X 2[H]
Fov &R (2 tH) 11{h 4,058 44,638|5.5h X 2[A]
EMHE 3|% 117,558 3,526
&t 121,084
1AREE=Y 1210
Foy &R (2t) BfR (1hdEY)

=X HE Ll i B
Bl 47] | 155 728
—EEF 0.18| A 18,500 3,330
&t 4,058

BE BA= BHRE A | RAKHEMB | XHI€EC | BHheEED | &5 (BikZ)

(m) 1 E1453() 2 @43(0) ME P(H) (M) A*B (M) (M) C+D
10 3.00 0.0334 7,060 235 661 896
11 3.63 0.0404 7,060 285 661 946
12 432 0.0480 7,060 338 661 999
13 5.07 0.0564 7,060 398 661 1,059
14 588 0.0654 7,060 461 661 1122
15 6.75 0.0750 7,060 529 661 1,190
16 7.68 0.0854 7,060 602 661 1,263
17 8.67 0.0964 7,060 680 661 1,341
18 9.72 0.1080 7,060 762 661 1,423
19 10.83 0.1204 7,060 850 661 15611
20 12.00 0.1334 7,060 941 661 1,602

BER 1 ALY Y OBAHERE
(B) WEEZE2 0cmil L4 Ok

BE BA= BHRE A | RRHEMB | X#I€%C | BHheEED | &5 (BikE)

(m) 1 E1453() 2 @43(0) ME P(H) (M) A*B (M) (M) C+D
10 3.00 0.0334 7,060 235 1,210 1,445
11 3.63 0.0404 7,060 285 1,210 1,495
12 432 0.0480 7,060 338 1,210 1,648
13 5.07 0.0564 7,060 398 1,210 1,608
14 588 0.0654 7,060 461 1,210 1,671
15 6.75 0.0750 7,060 529 1,210 1,739
16 7.68 0.0854 7,060 602 1,210 1,812
17 8.67 0.0964 7,060 680 1,210 1,890
18 9.72 0.1080 7,060 762 1,210 1,972
19 10.83 0.1204 7,060 850 1,210 2,060
20 12.00 0.1334 7,060 941 1,210 2,151




1 [BlEm

BEB 1 ALY OBAERE

(A) BEERZE2 0k

3 W EEm (2) ByhEFEEE MEP< A o 0h TEILF
BAHEERER MEPxA4 v oAhFH)LEl (50K 1 B8 [A+]
AR B R
(A) ESEZ20mEkRE (100K%~-Y)

X5 HE B ==L i) B
— R EEE 0.3 A 7,060 2,118[0.3 A X 1A
EET 0.4 A 21,100 8,440|0.4 AN X 1[m]
SH6EE 0.5 A 18,100 9,050|0.5 A x1[m]
cNowyiEER (2 tH) 1.8 h 3,983 7,169(1.8hx 1A
HHE 4 % 26,777 1,071
it 27,848
1ARH7=Y 278
AR B R
(B) WEEZE20mlE4 0cmkiE (1 00AK%=Y)

X5 HE B ==L i) B
— R 0.4 A 7,060 2,824(0.4 A x 1[A]
EET 0.6 A 21,100 12,660|0.6 A X 1[H]
TEEES 0.8 A 18,100 14,480|0.8 A X 1]
NS wyiEER (2 tH) 55 h 3,983 21,906 (5.5h
HHE 3 % 51,870 1,656
it 53,426
1ARH7=Y 534
oy iEER (2 t) BfE (1 hdhizy)

EZYN HE B ==L i)
295 4.7 | 139 653
—EERF 0.18 A 18,500 3,330
it 3,983

Be BAE B&EE A | RKHEMB | XHIES%EC | BHeEED | &5 (BikE)

(m) EE0) 1TES) | MEP() | (F) A*B () () C+D
10 3.00 0.0600 3,030 181 278 459
11 3.63 0.0726 3,030 219 278 497
12 432 0.0864 3,030 261 278 539
13 5.07 0.1014 3,030 307 278 585
14 5.88 0.1176 3,030 356 278 634
15 6.75 0.1350 3,030 409 278 687
16 768 0.1536 3,030 465 278 743
17 8.67 0.1734 3,030 525 278 803
18 9.72 0.1944 3,030 589 278 867
19 10.83 0.2166 3,030 656 278 934
20 12.00 0.2400 3,030 727 278 1,005

BRI 1 ALY OBBERE
(B) EER2 0milE4 Ocmskis

Be BAE B&EE A | RKHEMB | XHIES%EC | BHeEED | &5 (BikE)

(m) EE0) 1TES) | MEP() | (F) A*B () (M) C+D
10 3.00 0.0600 3,030 181 534 715
11 3.63 0.0726 3,030 219 534 753
12 432 0.0864 3,030 261 534 795
13 5.07 0.1014 3,030 307 534 841
14 5.88 0.1176 3,030 356 534 890
15 6.75 0.1350 3,030 409 534 943
16 7.68 0.1536 3,030 465 534 999
17 8.67 0.1734 3,030 525 534 1,059
18 9.72 0.1944 3,030 589 534 1,123
19 10.83 0.2166 3,030 656 534 1,190
20 12.00 0.2400 3,030 727 534 1,261




3 M bEAm (2) BHEER MEPa - o0h7wILE 1 EEM
BAEERER MEPx4A4 400 Ft)LEl (50K 1 B8 (BRiE]
REEEEMER
(A) BREZ2 0k (1 00FKHEY)

X5 HE iy B BE il
— R EER 0.3 A 3,030 909|0.3 A X 1[A]
EET 0.4 A 21,100 8,440|0.4 A x 1]
D6 EE 0.5 A 18,100 9,050|0.5 A x 1]
Moy UiEER (2 tH) 1.8 h 4,058 7,304|1.8h x 1[a]
EME 4 % 25,703 1,028
&t 26,731
1R4E2Y 267
REEEEMER
(B) WEEZFE20mE4 OcmkiE (1 00AK%:~Y)

X5 HE iy B BE il
— R EER 0.4 A 3,030 1,212{0.4 X X 1[A]
EET 0.6 A 21,100 12,660|0.6 A X 1]
TREXE 0.8 A 18,100 14,480|0.8 A X 1]
Moy UiEER (2 tH) 55 h 4,058 22,319|5.5h
EME 3 % 50,671 1,620
&t 52,191
1R4E2Y 521
Moy UEER (2 t) Bk (1hdhiY)

£ FR %E BAL Hif )
B 4.7 | 155 728
—REETF 0.18 A 18,500 3,330
&t 4,058

BER 1 ALY OBMESE

(A) WEER 2 0K

= BAE FRE A | FREMEB | EHSEEC | sihesED | Af BikE)

(m) 1 @45() 1Ea0) | MEP(E) | (H) AxB () () C+D
10 3.00 0.0600 3,030 181 267 448
11 3.63 0.0726 3,030 219 267 486
12 432 0.0864 3,030 261 267 528
13 5.07 0.1014 3,030 307 267 574
14 588 0.1176 3,030 356 267 623
15 6.75 0.1350 3,030 409 267 676
16 7.68 0.1536 3,030 465 267 732
17 8.67 0.1734 3,030 525 267 792
18 9.72 0.1944 3,030 589 267 856
19 10.83 0.2166 3,030 656 267 923
20 12.00 0.2400 3,030 727 267 994

BER 1 ALY OBGEFE
(B) WEERE2 Ocmbl £ 4 Ocmki

= BMAE FRE A | FREMB | EHSEEC | siheED | Af BikE)

(m) 1 @4 (1) 1 @4 (1) ME P(H) (M) AxB (M (M) C+D
10 3.00 0.0600 3,030 181 521 702
11 3.63 0.0726 3,030 219 521 740
12 432 0.0864 3,030 261 521 782
13 5.07 0.1014 3,030 307 521 828
14 5.88 0.1176 3,030 356 521 877
15 6.75 0.1350 3,030 409 521 930
16 7.68 0.1536 3,030 465 521 986
17 8.67 0.1734 3,030 525 521 1,046
18 9.72 0.1944 3,030 589 521 1,110
19 10.83 0.2166 3,030 656 521 1177
20 12.00 0.2400 3,030 727 521 1,248




3 i EEm (3) =Rt EEfAEE MEPELE 2 mI&&A
MEPZ# (1804%)  o@#ts  [4+)
PSS TRE2 Om (10 0&KS-Y) BEAI 1 ALY ORHEHE
X% ECARET % % BE | mAhE FRE A | RREMB | EARMC | BAS@MD | A Bk
BAE GEET) 01| A 21,100 2,110{005 %2 E (m) | 1m0 2 @5() ME P(F) (F) AsB (M) (F3) C+D
Rl (EEEXE) 02| A 18,100 3,620[0.05 Ax 2 [@]* 2 £ 10 3.00 0.0334 7,060 235 62 297
HEEE(EBEESR) 0.1 A 18,100 1,810({0.06 A* 2 [A] 11 3.63 0.0404 7,060 285 62 347
S 6 FE 1.12 h 3,983 4,460(0.56h* 2 [A] 12 4.32 0.0480 7,060 338 62 400
HEE 4 % 12,000 480 13 5.07 0.0564 7,060 398 77 475
it 12,480 14 5.88 0.0654 7,060 461 77 538
1AREY 124 15 6.75 0.0750 7,060 529 93 622
16 7.68 0.0854 7,060 602 93 695
17 8.67 0.0964 7,060 680 93 773
18 9.72 0.1080 7,060 762 109 871
19 10.83 0.1204 7,060 850 109 959
20 12.00 0.1334 7,060 941 124 1,065
FNowaBER (2 t) BE (1 hHhizy) 21 13.23 0.1470 7,060 1,037 124 1,161
B £ HAr Bl +% wE 22 1452 0.1614 7,060 1,139 140 1,279
8h 471 W 139 653 23 15.87 0.1764 7,060 1,245 156 1,401
— & F 0.18] A 18,5600 3,330 24 17.28 0.1920 7,060 1,365 156 1,611
it 3,983 25 18.75 0.2084 7,060 1,471 171 1,642
(B
e BEAI 1 AL Y ORAEHE
HATHBE2 0m (10 0A%E~Y)
X4 eI 28 |m= BE | mhE ERE A | BREMB | EASMC | BHEED | A Bk
BaEE EET) 0.1 A 21,100 2,110/0.05 A* 2 [|] (m) 1 \45() 2 [@453(1) ME P (M) () A*B (M) (M) C+D
ReEE (EEEXR) 02] A 18,100 3,620|0.05 A2 [E]*2 £ 10 3.00 0.0334 7,060 235 62 297
HMEEEEEER) 0.1 A 18,100 1,810/0.05 A% 2 [A] 11 3.63 0.0404 7,060 285 62 347
kT JIBER(2tE) 1.12 h 3,983 4,460(0.56h% 2 [A] 12 4.32 0.0480 7,060 338 62 400
HEE 4 % 12,000 480 13 5.07 0.0564 7,060 398 77 475
it 12,480 14 5.88 0.0654 7,060 461 77 538
1REY 124 15 6.75 0.0750 7,060 529 93 622
16 7.68 0.0854 7,060 602 93 695
17 8.67 0.0964 7,060 680 93 773
18 9.72 0.1080 7,060 762 109 871
FNowiEER (2 t) Bk (1 hHhzY) 19 10.83 0.1204 7,060 850 109 959
ZFR 5= E-tiv E==Xii] o] w% 20 12.00 0.1334 7,060 941 124 1,065
(290 470 139 653 21 13.23 0.1470 7,060 1,037 124 1,161
— W EERF 0.18 18,500 3,330 22 1452 0.1614 7,060 1,139 140 1,279
it 3,983 23 16.87 0.1764 7,060 1,245 156 1,401
24 17.28 0.1920 7,060 1,355 156 1,511
25 18.75 0.2084 7,060 1,471 171 1,642
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